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UPCOMING ONLINE BATCHES

JULY 2021

14 July 2021 21 July 2021

10:30 AM to 12:30 PM

LIVE PREMIUM
SILVER CARD PUOU
(CGL & CHSY) GREEN CARD

07 July 2021 28 July 2021

01:00 PM to 03:00 PM
LIVE PREMIUM BRONZE CARD
(TET)

10:30 AM to 12:30 PM

LIVE PREMIUM

GREEN CARD
(BANK-PO & CLERK)

LIVE PREMIUM GREEN CARD
(IBPS PO & CLERK)

08:00 AM to 10:00 AM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

03:00 PM to 05:00 PM (IBPS RRB PO/CLERK)

LIVE PREMIUM PRE + MAINS
STATE CARD
(UPSSSC PET)
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Direction (41-45): Direction for Question

Six shopkeepers Lakhan, Manoj, Naimish, Shopkeeper Total quantity Milk
Omprakash, Pramod and Quraishi sold milk of milk mixture : water :
mixture which made by mixing three items EORICS)
that is milk, water and milk powder. The takhan 16074 25:23:9
following table shows the total quantities 12210 10:1521
. M j :15:

sold by these shopkeepers and the ratios of anel

Naimish 15498 23:18:22

Omprakash 12376 21:23:24

Pramod 14626 25:24:22

Quraishi 18632 3:5:9
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4 I
41. What is the total_quantity of puremilk sold by shopkeeper Lakhan and Manoj together?
Wwﬁvﬁﬁm%ﬁmﬁqwgu $d HEAT ?
(A)10864 (B)11268 (C)11060 (D)9870 (E)None of these

Shopkeeper Total quantity Milk
of milk mixture : water :
powder
Lakhan 16074 25:23:9
Manoj 12210 19:15:21
Naimish 15498 23:18:22
Omprakash 12376 21:23:24
Pramod 14626 25:24:22

Quraishi 18632 3:5:9
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42. What is the difference between the total quantity of pure milk and powder sold by shopkeeper
Pramod?

PSR THIG GRT dxil ST aTel! Y& g 3R UI3SR &1 el AT H T 3R 87

(A)572 (B)450 (C)626 (D)618 (E)None of these |
Manoj 12210 19:15:21
Naimish 15498 23:18:22
Omprakash 12376 21:23:24
Pramod 14626 25:24:22
Quraishi 18632 3:5:9
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\
43 The total quantity of m|Ik sold by shopkeeper Omprakash is approximately what per cent

more/less that the total quan 0 sold by s%keeper Quraishi?
&Eqwm wﬁ% GPGR PR GRT ddl S aTeft

(A)16.25%  (B)18% (C)16.50% (D)18.25% (E)None of these

Lakhan 16074 25:23:9
Manoj 12210 19:15:21
Naimish 15498 23:18:22
Omprakash 12376 21:23:24
Pramod 14626 25:24:22
Quraishi 18632 3:5:9
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44, The total quantity of water sold by shopkeeper Lakhan is approximately what per cent of the
total quantity of milk so

m@ d Qﬁ%@wﬁwwmmaﬁwgammw

(A)88% (B)96% (C)92% (D)98% (E)None of these
Manoj 12210 19:15:21
Naimish 15498 23:18:22
Omprakash 12376 21:23:24
Pramod 14626 25:24:22
Quraishi 18632 3:5:9
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Direction (46 to 50 ):- In each question two equations numbered (1) and (I1) are
given. You have to solve both the equations and mark appropriate answer.

(@) If x>y
(b) Ifx<y
Ifx>y
dIfx<y

(e) x =y or no relation can be established
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4 N

Q.46 :- . x2—62X + 897=0 1. y2—69y +1190=0
Q.47 :- . X2 +42.5x + 686 =0 1. y2+40.5y—399.5 = 0
Q.48 :- |. X2 =104x =777 =0 I1. y2—223y +12432=0
Q.49 :- |. X2 —=76X +1419 =0 1. y>—20y —2709 =0
Q.50 :- |.x2—37x—-287=0 11. y2—73y+ 1302 =0
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51. The difference between 87% and 71% of a number is 448. What is 59% of that number?
Uh URT P 87% 3R 71% P S 3R 4488 | S AT HT59% FT g ?

(A)1582  (B)1528 (C)1586 (D) 1592  (E)none of these
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52. In what ratio must a shopkeeper have to mix the two varieties of rice costing Rs 28 and Rs 40 per

respectively so as to get a mixture wo 36 perkg?
B o ey e e

(A)4:7 (B)2:3 (C)1:2 (D)5:8 (E)None of these
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53. The ratio of speeds of Aisto B is 2:3 and therefore A takes 20 minutes less time than B takes.

What is the ratio of time taken byAand
3112 5.1 2:3 SHfeTE A, B Y 20 fiFe U GHT AdT 1 A
?

B §IRT feIT ¢ 99y H 1 &Iﬁtﬂﬁ
(A)1:2 (B)2:1 (C)2:3 (D)3:2 (E)None of these
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54.The average age of a man and his son is 45 years. The ratio of their age is 2:1 respectively. What

5theso sa
G| GL|
%a;ﬁgsrﬁangw%a 3 3T 45 Y § 3R IADT 3T BT SUTd HH: 2:1

(A)20years (B)25years (C)30years (D)35years (E)None of these
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What should come at place of the question mark (?) in the following number series ?

26,59,129,271,559, 1137, 7

(A)2295 (B)2205 (C)1517 (D)2212 (E) 2297
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4 N
What should come at place of the question mark (?) in the following number series ?

-1,0,10,65,345,1750,?

(A)8750 (B)10500 (C)10530 (D)8780 (E) 9230
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4 N
What should come at place of the question mark (?) in the following number series ?

12,6,9,225,78.75,354.375,7?

(A)1452.3755 (B)1949.0625 (C)1728.0525 (D)1594.6875  (E)2303.4375
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Find the wrong number in the following number series.

180, 184, 552, 568 , 2842 , 2876

(A)2842 (B)568 (C)180 (D)184  (E)2876
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4 )
Find the wrong number in the following number series.

2035, 2520, 3055, 3645 , 4275

(A)2520 (B)3645 (C)3055 (D)2035 (E) 4275
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4 N
What value should come in the place of question mark(?)in the following questions?

61.8.21+6.44=7?+6.2

(A)8.95 (B)6.45 (C)5.95 (D)7.35 (E)8.45



http://www.mahendras.org/

/”\ Watiendra’'s / / FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E04613 /

4 N
What value should come in the place of question mark(?)in the following questions?

62.199 x 19x9-9099 =7

(A)24390 (B)23940 (C)29340 (D)24930  (E) None of these
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4 N
What value should come in the place of question mark(?)in the following questions?

63. 260 + 836 +509 + 1001="7

(A)2404 (B)2505 (C)2606 (D)2106 (E)2600
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4 N
What value should come in the place of question mark(?)in the following questions?

64. 814+519+23+289="

(A)1694 (B)1652 (C)1665 (D)1645 (E) None of these
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4 N
What value should come in the place of question mark(?)in the following questions?

65. 777+88+9 = 7+100

(A)774 (B)763 (C)779 (D)757 (E) None of these
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4 N
What value should come in the place of question mark(?)in the following questions?

66.72+86+93+102+118+128="

(A)599 (B)591 (C)594 (D)598  (E)596
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4 N
What value should come in the place of question mark(?)in the following questions?

67.810+505+ 312 =7 +48.98

(A)1857.03 (B)1578.02  (C)1778.04  (D)1587.02 (E) None of these
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4 N
What value should come in the place of question mark(?)in the following questions?

68.916 +926 +21 =7+ &9

(A)916 (B)926 (C)912 (D932  (E)929
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4 N
What value should come in the place of question mark(?)in the following questions?

69.55.31+46.21+?=1575+46.35

(A)102.33 (B)103.32 (C)102.39  (D)103.22 (E) 102.35
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4 N
What value should come in the place of question mark(?)in the following questions?

70.7+77+777+7777+77777="

(A)86415 (B)86132 (C)86315 (D)86215 (E) None of these
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71. The P of 40 articles is equal to S.P. of 50 articles. Find the gain or loss percent?
gaTg' [ BT 5T Hed, 503@3%%1%% % GRTAR © | ST o ST wrerd e

(A)Profit of 16% (B)loss of 16% (C) Profitof20%  (D)Loss of 20% (E)None of these
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72. A side of equilateral triangle is 8 cm. What is the area of triangle?

U JHATE YT $1 YoI1 8 §H. 71 YW &1 &wa a1 ghm?

(A)16V3m?2  (B)15v2 m? (C)15V5 m? (D)14V3 m? (E)None of these
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4 A

73. Speed of boat is Skm/hr. in still water and the speed of the stream is 3 km/hr. if the boat takes 3

hours to go_to a distance place and come back find the distance between the place. .

%wj}ﬁ%;?ﬁ%?cﬁ , YTRT %I e 3 / 19 &1 S A
IO 3 | 3 e Rl & o B g3l 91 ?

(A)3.75km (B)4 km (C)4.5km (D)4.8km (E)None of these
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4 A

74.The compound interest on a certain sum at the rate of 5 p.c.p.a after 3 years is Rs. 1324.05.
What.is simple interest?

%ﬂ? 3T IR 3 TUT | 5 W.RN.Y.9. BT X | Thgi 1324.05 § | HTLURUT SATST T

(A)1260 (B)1560 (C)1160 (D)1360 (E)None of these
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4 A

71. What is the compound interest on Rs. 20000 for 3 years if the rate of interest is 5% for the first
year, 10% for the seco g }/%r g(nd 15% for the third year?

3. 20000 T afe uyg 99 1ot 1 R 5%
aéstnrrr X 10% AT anshs%g11

(A) Rs. 6565 (B)Rs. 5656 (C)Rs. 6655 (D)Rs. 6554 (E)None of these
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4 A

72. A reduction of 20% in the price of sugar enables a man to purchase 2kg more for Rs. 160. Find
the reduced price.

1%?1 [ 20% h1 HHT www%%momﬁzmiﬂﬁaﬁ‘w
T §3IT Jod 1 872

(A)Rs.15 (B)Rs. 18 (C)Rs. 20 (D)Rs.16 (E)None of these
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4 A

73. If the letters of the word 'SERIAL' be arranged randomly, what is the probability that all vowels
are nqt together?

m%%?mu%a@ﬁm@amma‘rﬂmwﬁ%wwuqanﬁﬁ

(A)1/5 (B)2/5 (C)3/5 (D)4/5 (E)None of these
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74. If the numerator of a fraction is increased by 340% and the denominator is increase by 240%

the resultant fractign is 3 2/5. What is the original fraction?
tré !‘ P DY 340 5?3?%240% derT St gt fae
32/58! e R T 57

(A)2 67/100 (B)2 63/100 (C)269/110 (D)2 67/110 (E)None of these
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